E:# Multiplication within 100 Name:

Solve each problem. Answers

1) Larry'sLawn Care charges six bucks to mow the lawn. If Adam has his lawn mowed nine
times, how much money did he spend?

2) It takes John five oranges to make a small glass of orange juice. If he wanted to make nine || 2
glasses how many oranges would he need?

3.
3) Kaleb was packing up his old toys. He managed to squeeze eight toysinto abox. If Kaleb
filled up nine boxes, how many toys did he pack total? 4
5.
4) A mailman had to give six pieces of junkmail to each house on a block. If the block he's on
now has seven houses. How many pieces of junk mail does he need? 6.
5) Janet was buying DV Ds of her favorite tv series. Each season had three DV Ds. If she 7.
bought six seasons how many DV Ds did she buy total ?
8.
6) A large order of fries at the soda shop costs seven dollars. How much money would you 9
need if you wanted to buy three large fries? '
10.
7) A pet store had four cages of snakes with four snakes in each cage. How many snakes did
the pet store have total ? 11
12.

8) Mariawas making necklaces for her friends. She had eight friends who wanted a necklace
and each necklace took three beads. How many bead would she need total ?

9) Frank was playing games at the carnival. At the ring toss booth you get three rings for a
dollar. If John spent four dollars, how many rings did he get?

10) Amy had to complete three pages of homework. Each page had three problems on it. How
many problems did she have to complete total ?

11) A bouquet hastwo rosesin it. If aflorist had three bouquets, how many roses did they
have total?

12) Gwen was practicing drawing pictures. Each day she drew for six hours. How many hours
would she have practiced after four days?
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Multiplication within 100 Name: Answer Key
Solve each problem. Answers

1) Larry'sLawn Care charges six bucks to mow the lawn. If Adam has his lawn mowed nine
times, how much money did he spend?

Equal Groups - (Unknown Product)

1 54

45

2) It takes John five oranges to make a small glass of orange juice. If he wanted to make nine || 2
glasses how many oranges would he need?

Equal Groups - (Unknown Product) 3. 72

3) Kaleb was packing up his old toys. He managed to squeeze eight toysinto abox. If Kaleb 42
filled up nine boxes, how many toys did he pack total?

Equal Groups - (Unknown Product)

5. 18
4) A mailman had to give six pieces of junkmail to each house on a block. If the block he's on
now has seven houses. How many pieces of junk mail does he need? 6. 21
Equal Groups - (Unknown Product)
5) Janet was buying DV Ds of her favorite tv series. Each season had three DV Ds. If she 7. 16
bought six seasons how many DV Ds did she buy total ?
Equal Groups - (Unknown Product) 8. 24
6) A largeorder of fries at the soda shop costs seven dollars. How much money would you 9 12
need if you wanted to buy three large fries? '
Equal Groups - (Unknown Product) 9
10.

7) A pet store had four cages of snakes with four snakes in each cage. How many snakes did
the pet store have total? 11 6

Equal Groups - (Unknown Product)

12 24

8) Mariawas making necklaces for her friends. She had eight friends who wanted a necklace
and each necklace took three beads. How many bead would she need total ?

Equal Groups - (Unknown Product)

9) Frank was playing games at the carnival. At the ring toss booth you get three rings for a
dollar. If John spent four dollars, how many rings did he get?

Equal Groups - (Unknown Product)

10) Amy had to complete three pages of homework. Each page had three problems on it. How
many problems did she have to complete total ?

Equal Groups - (Unknown Product)

11) A bouquet hastwo rosesin it. If aflorist had three bouquets, how many roses did they
have total?

Equal Groups - (Unknown Product)

12) Gwen was practicing drawing pictures. Each day she drew for six hours. How many hours
would she have practiced after four days?

Equal Groups - (Unknown Product)
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E:# Multiplication within 100 Name:

Solve each problem. Answers
45 12 42 72 18
[[ 16 54 21 9 24 J] t
1) Larry'sLawn Care charges 6 bucks to mow the lawn. If Adam has his lawn mowed 9 5

times, how much money did he spend?

3.
2) It takes John 5 oranges to make a small glass of orange juice. If he wanted to make 9
glasses how many oranges would he need? 4.
5.
3) Kaleb was packing up his old toys. He managed to squeeze 8 toys into a box. If Kaleb
filled up 9 boxes, how many toys did he pack total ? 6.
7.
4) A mailman had to give 6 pieces of junkmail to each house on a block. If the block he's on
now has 7 houses. How many pieces of junk mail does he need? 8
. . . 9
5) Janet was buying DV Ds of her favorite tv series. Each season had 3 DVDs. If she bought 6
seasons how many DV Ds did she buy total? 0

6) A large order of fries at the soda shop costs 7 dollars. How much money would you need if
you wanted to buy 3 large fries?

7) A pet store had 4 cages of snakes with 4 snakes in each cage. How many snakes did the pet
store have total ?

8) Mariawas making necklaces for her friends. She had 8 friends who wanted a necklace and
each necklace took 3 beads. How many bead would she need total ?

9) Frank was playing games at the carnival. At the ring toss booth you get 3 rings for a dollar.
If John spent 4 dollars, how many rings did he get?

10) Amy had to complete 3 pages of homework. Each page had 3 problems on it. How many
problems did she have to complete total ?
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